MAP4175/5177 Name:
Exams 1 and 2 Date: September 14, 2016

Show all work for full credit, and use correct notation.
1. Given p35 = 0.98, determine g;s.
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2. Given 35935 = 0.46 and ,yp5, = 0.6, determine ;5qsc.
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3. Given ,p, = (1220’() , 0 < x <100, determine ,gp4¢.
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determine ;qg;.
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5. Given 19120930 = 0.2 and 14q3¢ = 0.15, determine 30p30.
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6. Given 40 = 0.02(k + 1) for k = 0,1,2, ... 49, determine sp,,.
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7. Given 530425 = 0.18 and 59,5 = 0.1, determine f;; fao(t)dt.
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8. Given q7g4 = 0.1(k + 1) for k = 0,1,2,...,9, determine 3q-,.
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9. Given (p, = e %% determine gx.
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10. Given €44 = 32.5, pas = 2, and p,ys = 2, determine ey.
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